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1) Iff (x)=x+1,and g(x)=x —6, then (fg)(x) =
[A]x*—x —6 B]x?+x -6  [c]x*+5x —6 [D]x?—-5x —6

2) The solution of x?—5x —6=0is
[A] —1or6 —6orl [c]-20r3 [D]-3 or 2

3) The solution of the inequality X > —5x —6 > Ois

[A] (—o0,~1]U[6, 0) (—o0,—6]U[L, )
(=0, ) U(6,) D] (o0, —6) U(1,0)
X +7

4) Find the domain of the function f (x) = —5——.
X“—9X —6

R\{-6,1} R\{-32) R\{-2,3) [D]R\{-16)

5) Find the equation of the line through the points (2,8) and (4,3).
y =—gx +1 y :—gx +7 y :gx +13 @ y :—gx +13

3+x
A][00) [BJR [€](0%) [BJ(=0-2)U(2%=)

6) Find the domain of the functionf (x) =

7) Find the slope of the line through the points (5,—6) and (8,-5).
1 1
-3 3 3 D] 73

1
8) The equation of the line with slope m = 5 and passes through (5,—6) IS

A]3y —x —13=0 [B] 3y —x —23=0
c]x —3y —23=0 [D]3y +x -13=0

9) Find the range of the functionf (x)=2-x°.
(—00,2] R= (—oo,oo) (—0,2) D] [2,00)

X2+1 .
. is

10) The function f (x)=
Even Odd Even and odd [D] Neither even nor odd

11) If the graph of the function f (x)=x?° is shifted a distance 2 units to
the upward, then the new graph represented the graph of the function is

(x +2)° (x —2)° Clx®+2 D] x°*-2




12) The solution of the inequality [5x +7|<3 is

o(=-4) w(3) o3 m[+-f

13) The solution of the inequality [5X +7|>3 is

R
(—oo,—z)u(—g,ooj o] (—oo,—z]u{—g,ooj

14) The solution of [4x +7|=3 is

gorz -2 or _% 1org IEI—% or —1

15) The slope of the line perpendicular to the line 5X —y —2=0is

1 1
[A] -5 [B] 5 _E IEIE

16) The equation for the line passes through (—1,3) and parallel to the line
X -y =2is

y:%x +4 y:—%x +2 cly=3x+6 [D]y=-3x

17) The irrational number is

A3 B % © @%

18) The function f (x)=2x°+1is
Cubic Quadratic Linear [D] Constant

19) The equation of the vertical line passes through (6,3) is
Aly=3 [B]x=3 [c]ly=6 [D]x =6

2
20) The distance between the real numbers g, and 5 is

13 13 17 17

Al — = — [c]— - —

2 2 2 D] 2

21) If 4(x —1)—3x =2 ,then X =
—6 6

cl-2 [D]2




22) If f (x)=3x +6,then D, =
(—oo,oo) [—6,00) (—6,00) D] (—oo,—6]

23) The intersection point of the lines 3X —y +2=0and 2x +y +3=0

IS
Al (LD) (-1D) cJ(-1-1) [bjA-1)

3
24) The solution of the inequality —3X + > <lis

(-] s(~Zaf) ol

25) The function f (x)=e” is
Algebraic Trigonometric Natural exponential [D] Polynomial

26) Find the equation of the line with slope -5 and y —intercept 3 is -
y —5x +3=0 y —5x —3=0 y +5x +3=0 [D]y +5x —3=0

21)  (-2.7]-[4.9)=
& (-24] B (47) ©(47  D(-24)

28) If f (x)=+/x +1,and g(x)=+X —6, then DL:
[—1,00) [6,00) (6,00) @(—1,00)

29) The solution of 2x 2 +3x —5=0 is
—Zor% —%or2 —gorl |§|—1org

30) If f (x)=+/x ,and g(x)=x +3, then (g of )(x) =
Al VX +3 BlVXx +3 [c](x +3vx  [D]x+9
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1) If f (x)=+X ,and g(x)=x +3, then (f og)(x)=
Al VX +3 [B] VX +3 Cl(x +3)vx  [D]x +9

2) (~2.7]-(4.9)=
& (-24] [B(47) ©(47  ©D[-29)

3) If the graph of the function f (x)=x? is shifted a distance 2 units to

the downward, then the new graph represented the graph of the
function is

(x +2)° (x —2)° c]x®+2 D] x®-2

3
4) The solution of the inequality —3X +§ > 1is

o(~] s(=Zaf) af

6 2 6 2
5) Find the slope of the line through the points (-5,—6) and (-8,-5).
1 1
-3 3 3 D] 73
1
6) The equation of the line with slope m =— 5 and passes through
(-5,-6) is

Al3y —x =13=0 3y +x +23=0
c]x =3y +23=0 [D]3y +x +13=0

7) The function f (x)=3x>+1is
Cubic Quadratic Linear [D] Constant

8) Find the equation of the line through the points (4,3) and (2,8).
y :—gx +1 y =—gx +13 [Cly :—gx +7 [D]y :gx +13

9) The function f (x)= 2X
X*—2

Even Odd Even and odd [D] Neither even nor odd

IS

10) Find the range of the functionf (x)=3-x>.
Al[32) ] R~ (~e0,%0)
(-0,3) [D] (~,3]




11) The slope of the line perpendicular to the line 2Xx +y —5=0is
1 1
—2 _E E ] 2

12) The equation for the line passes through (—1,6) and parallel to the
line 5X +y =1s

[Aly :—%x +5 y =-5x +1

y:%x—Y D] y =5x +11

13) The solution of 2x%—3x —5=0is
5 5 5 5
—20rZ —Zorz —Eorl |§|—1orE

14) The irrational number is

A3 B U8 % 542

15) Iff (x)=3x -6, then D, =
A][6,0)  [BI(—,0) [€](6,2)  [DI(-0.6]

16) Iff (x)=+Xx +6,and g(x)=+/x —1, then D, =
AlLe)  B[6x) E(6x) bL=)

17)  The equation of the horizontal line passes through (6,3) is
Aly =3 [B]x=3 [c]y=6 [D]x=6

18) The function f (x)=5" is
Algebraic Trigonometric Polynomial [D] General exponential

19) Iff (x)=x-1,and g(x)=x +6, then (fg)(x) =
[Al]x?—-x —6 B]x?+x -6  [c]x*+5x —6 [D]x?—-5x —6

20) The solution of Xx*+5x —6=0 is
[A] =1or6 [B] 6o0orl [c]-2o0r3 [D]-3 0or 2

21) The solution of the inequality X > +5x —6 > Ois

[A] (—o0,—6) U (1, 0) (—o0,—1]U[6,0)

(—90,—6]U[L, ) [D] (—o0,—-1) U (6,0)
22) Find the domain of the function f (x) :ZX;?.
X“+5X —6

R\{-6,1} R\{-32) R\{-2,3) [D]R\{-16)




23) Find the equation of the line with slope 5 and y —intercept 3 is
y —5x +3=0 y —5x —3=0 y +5x +3=0 [D]y +5x —3=0

24) The distance between the real numbers — 4 and _5 IS

10 10 14 14
Al — - — ] -— —
2 i i D] 3
25) The intersection point of the lines 3x —y —2=0 and
2X +y —3=0's

Al @.1) (-1D) cJ(-1-1) [bjA-1)

26) If 3X +4(1—x)=2 ,then X =
Al 6 [B] 6 [c]-2 [D]2

JX +3
X2 +25
] (-0, 5)U(Bx) [B]R [€](0») [D][0,)

27) Find the domain of the functionf (x) =

28) The solution of |4x —7|=3is

gorz -2 or —g 1org @—2 or -1

29) The solution of the inequality [5x +7|<3 is

o(x-8) m(3) o3 m[+-f

30) The solution of the inequality [5X +7|>3 is
(—oo,ng(Z,oo) (—oo,g}U[Z,oo)
(—oo,—Z)U(—g,ooj D] (—oo,—Z]U{—%,ooj

>]

9]
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1) The slope of the line perpendicular to the line y +9x =1is

1 1
—5 B]9 5 [D]-9

2) The equation for the line passes through (—1,5) and parallel to the line
/X -y —=15=0s

Aly ==7X +5 y:—%x +4 yz—%x —14 D]y =7x +12

3
3) The solution of the inequality —5X +§ <lis

o) wfae) ey ol

4) The solution of 2x?+3x —5=0 is
5 5 5 5
—1or§ —Eorl—ZOrZ@—ZorZ

2
5) The distance between the real numbers —5 and —5 IS

13 13 17 17
Al — — = [c]= - —
i 3 3 D] i

6) The intersection point of the lines 3X —y +2=0 and 2X +y +3=0

IS
Al @,-1) (-1-D) c]@1) [bI(-11

7) If f (x):«/x_,and g(x)=x+1,then (g of )(x)=
[A] (x +1)VX Blx+1 [c]Jx +1 [D]Vx +1

8) The function f (x)=sinx is
Algebraic Trigonometric Natural exponential [D] Polynomial

9) The irrational number is

A3 B3 % 538

10) If f (x)=3/x -2, then D, =
[2.) (2.)
(—oo,oo) D] (—oo,2]




11) If f (x)=x—-2,and g(x)=x +3, then (fg)(x) =
[Alx*—x —6 B]x?+x -6 [c]x*+5x —6 [D]x*—-5x —6

12) The solution of X*+X —6=0is

[A] =1or6 [B] 6o0orl1l [c]-2o0r3 [D]-3o0r 2

13) The solution of the inequality X > +X —6>Qis
(—o0,=3) U(2,) (—o0,=3]U[2,0)
(_OO’ _2) U (3! OO) IEI (_OO! _2] U [31 OO)

X +7
X2+X -6

R\{-6,1} R\{-3,2) R\{-2,3) [D]R\{-16)

14) Find the domain of the function f (x)=

15) Find the slope of the line through the points (8,-5) and (5,-6).
1 1
3 3 -3 D] - 3

1
16) The equation of the line with slope m = 5 and passes through (8,-5) is

A]3y —x —=23=0 [B] 3y —x —13=0
c]3y +x —=13=0 [p] x -3y —23=0

17) Find the equation of the line through the points (2,8) and (4,3).
y :—gx +1 y :gx +13 y :—gx +7 [D]y :—gx +13

18) The equation of the vertical line passes through (3,6) is
[AJly=3 [B]x=3 [cly=6 [D]x =6

19) Iff (x)=+/x +6,and g(x)=+/x —1, then D, =

9

[1,00) [—6,00) (—6,00) D] (1,oo)

20) If 3X —4(x —1) =2, then X =
Al 6 [B] 6 [c]-2 [D]2

21)  The solution of |5x +7|=3is

gorz —20r—g

1org lﬁl—g or -1

22) Find the equation of the line with slope =5 and Yy —intercept —3 is .
y —5x +3=0 y —5x —3=0 y +5x +3=0 [D]y +5x —3=0




5-x
Ix2+49
(—o0,~7)U(7,0) [0,00) (0,0) [D]R

23) Find the domain of the functionf (x )=

24) The function f (x)= X+l IS

Even Odd Even and odd [D] Neither even nor odd

25) The solution of the inequality [5x —7| >3 is
4

(—oo,—z)u(—g,ooj o] (—oo,—z]u{—g,ooj

26) The solution of the inequality [5x —7| <3 is

s(24) o(se] efse] o[£

27y  (-17]-[49)=
Al (47) [ (-14] [I(-14) D](4,7]

28) If the graph of the function f (x)=x? is shifted a distance 2 units to
the right, then the new graph represented the graph of the function is

(x +2)° (x —2)° clx®+2 D] x°*-2

29) Find the range of the functionf (x)=x?-5.
R = (—0,) [-5) (<=,5)  [BJ(-~-5]

30) The function f (x)=2x +1is
Cubic Quadratic Linear [D] Constant
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1) The function f (x)=3is
Cubic Quadratic Linear [D] Constant

2) The distance between the real numbers — 4 and 5 IS

10 10 14 14
Al — - = []-= =
3 2 3 @3

3) Find the slope of the line through the points (-8,-5) and (-5,-6).
1 1
-3 73 3 [D]3

1
4) The equation of the line with slope m =— § and passes through (-8,-5)

IS
AlX =3y +23=0 [B]3y +x +13=0
c]3y —x —13=0 [D]|3y +x +23=0

5) Find the equation of the line through the points (4,3) and (2,8).
y =g>< +13 y =—gx +1 [Cly :—gx +7 [D]y :—gx +13

6) The slope of the line perpendicular to the line 4X —y =3is

1 1
_Z Z c]4 [p]-4

7) The equation for the line passes through (—1,4) and parallel to the line
—8X -y —3=0s

Aly =8x +12 y=%x+5 y=—%x+3 D]y =—8x —4

8) If f (x)=+/x,and g(x)=x +1, then (f og)(x)=
[A] X +1 X +1 (x +)Vx  [D]VXx +1

9) Find the equation of the line with slope 5 and y —intercept —3 is .
y —5x +3=0 y —5x —3=0 y +5x +3=0 [D]y +5x —3=0

10) The irrational number is

A7 B3 % 5138




11) If f (x)=3x +2, then D, =
A][-20)  [BJ(2) [](-==-2]  [DJ(-0)

12) If 3Xx —4(X +1)=2,then X =
Al 6 [B] 6 [c]-2 [D]2

13) The intersection point of the lines 3X —y —2=0and 2x +y —3=0

IS
Al @,-1) (-1-1) @) bI(-11

3
14) The solution of the inequality —5X + > > Lis

f3e) sl o= s

15) The equation of the horizontal line passes through (3,6) is
Aly=3 [B]x=3 [c]ly=6 [D]x=6

16) The function f (x)=x3++/X is
Algebraic Trigonometric Natural exponential [D] Polynomial

17) The solution of 2x?—3x —5=0is
5 5 5 5
—1orE —Eorl —ZOrZ@—ZorZ

18) If f (x)=+/x +1,and g(x)=+X —6, then D, =
[—1,00) [6,00) (6,00) D] (—1,00)

19) If f (x)=x+2,and g(x)=x —3, then (fg)(x) =
[Alx*—x —6 B]x?+x -6  [c]x*+5x —6 [D]x*—-5x —6

20) The solution of X*—Xx —6=0is
—lor6 —6o0rl
c]-2or3 [D]-30or 2

21) The solution of the inequality X > —x —6> Qis
(—o0,-3) U (2,0) (—o0,—3]U[2,0)
(—o0,—2) U (3,0) [D] (—o0,—2]UI[3,)

X +7

22) Find the domain of the function f (x ) =—;

AIR\{-6,1) R\{-3,2] C
CIR\{-2,3) BIR\{-16)




23) The solution of [5x —7|=3 is

gorz —2 0r —g 1org IEI—% or -1

24) The solution of the inequality [5x —7| <3 is

o34 (£2) efte] [+

25) The solution of the inequality [5x —7|> 3 is

l-thirer 3 (gt
(—oo,—z)u(—g,ooj @(—oo,—z]u{ j

01|4>

7-Jx

26) Find the d f the functionf
) Find the domain of the functionf (x) = m
[A] (—o0,—3)U(3,0) R [0,0)  [D](0,)

27) If the graph of the function f (x)=x? is shifted a distance 2 units to
the left, then the new graph represented the graph of the function is

(x +2)° (x —2)° [c]x®+2 D] x%-2

28) Find the range of the functionf (x)=x?-1.

R= (—oo,oo) (—o0,-1) [—1,00) D] (—oo,—l]

29)  (-L7]-(4.9]=
Al (47) Bl (-14] [EI[-14) B](4,7]

X2+1 .
is

30) The function f (x)=
Even Odd Even and odd [D] Neither even nor odd




